frames_you_want

rapest

%t create trigger matrix

x = [startframe repeat];

X = x(x~=0);

cycle = x(1); for i=2:length{x); cycle=lem(cycle,x{i)); end
triggermatrix = zeros(cycle,d);

if startframe(1) ~= 0;
8 for i = ptartframe(1):repeat(1):cycle; triggermatrix({i,1)=[1]; end; end

startframe 11 if startframe(z] -= 0;

12 for i = startframe(Z):repeat(2):cycle; triggermatrix(i,2)=[1]; end; end

14 if startframe(3) ~= 0;
15 for 1 = startframe(3):repeat(2):cycle; triggermatrix(i,3)=[1]; end; end

17 if startframe(4) ~= 0;
18 for i = startframe(4):repeat(4):cycle; triggermatrix(i,4)=[1]; end; end

20 repeats = cell{frames_you _want/cycle);
21  frames you get = repeats*cycle;
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Trig_405 = logical(triggermatrix(n, 1)) LRFL
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Trig_488 = logical(triggermatrix(n, 2));
(
(

Trig_561 = logical(triggermatriz(n 3)); — L
Trig_640 = logical(triggermatrix(n4)); @ _@_




